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Topic — Numbers

Place value of the digit ‘8" in 809 is —

(@) 8 (b) 80 (c) 800
Even number just after 211

(a) 212 (b) 312 (c) 214
Forty eight in figures is —

(a) 40 (b) 48 (c) 57
Predecessor of 456

(a) 452 (b) 455 (c) 398
Short form of 300+20+8 is

(a) 328 (b) 261 (c) 752

Count by 3,s and tick the next number

3,6,9, 12, 15, 18, 21, , , 30

(a) 48, 32 (b) 24, 27 (c) 78, 34
100 less than 900

(a) 700 (b) 200 (c) 300
The short form 500+40+0

(a) 640 (b) 740 (c) 800
The greatest 3 digit number is

(&) 999 (b) 100 (c) 109
10 less than 40

(a) 60 (b) 30 (c) 80
The least number among 609, 690, 906 and 960

(a) 609 (b) 842 (c) 342
The smallest 2 digit number

(@) 10 (b) 99 (c) 22
Number comes in between 200 and 202

(a) 300 (b) 700 (c) 201
Successor of 100 is

(a) 108 (b) 101 (c) 200
Number comes before 333 is

(a) 332 (b) 355 (c) 400
Tick the missing number

712, 713, , , , 717

(a) 254, 326, 782 (b) 428, 327, 896

199+1 is

(a) 200 (b) 300 (c) 400
Face value of 7 is 470

@7 (b) 4 (c)0
Odd number just after 133

(a) 135 (b) 436 (c) 540

Count the beads and tick the correct option

(a) 562 (b) 782 (c) 962

Topic — Addition

20+40is [
(a) 63 (b) 60 (c) 66
Which of the following add upto 20?
(a) 10+10 (b) 10+5 (c) 15+10
Write and tick missing number 5

+6 4
200 more than 600 = L]
@1 (b) 800 (c) 10
5+0+3is [l
(@ 8 (b) 7 (c)3
Which is not correct addition sentence?
(a) 4+4=8 (b) 4+5=9 (c) 3+6=9
Which is the same as 2507
(a) 200+50 (b) 225+50 (c) 215+50

Rita collected 8 stamps. Neha has collected 7. How many stamps do both of them have?

(a) 65 (b) 15 (c) 25

(c) 714, 715, 716

(d)0
(d) 412
(d) 28
(c) 246

(d) 346

(d) 48, 64
(d) 800
(d) 540
(d) 901
(d) 100
(d) 340
(d)0

(d) 450
(d) 300

(d) 350

(d) 528, 329, 781

(d) 100
(d) 2

(d) 780

(d) 312

(d) 68

(d) 15+15

(d) 1000
(d) 5

(d) 5+1=7
(d) 200+25

(d) 35

Rough work
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2 ii Mathematics
509 +435= [_] +509

(a) 436 (b) 435 (c) 433 (d) 434

615

+1 5 2

7 8 O
(@3,7 (b) 2,7 (©)5,5 (d) 8,3
There are 50 boys and 80 girls in a school. How many students are there altogether in the school?
(a) 120 (b) 150 (c) 130 (d) 160
(503+183) + 94 = 183 + ([ + 503)
(a) 94 (b) 183 (c) 503 (d) 96
Add 100 and 20 is []
(a) 120 (b) 112 (c) 100 (d) 20

Write and tick tens and ones.

32 =[] tens+[] ones

(a) 4 tens + 5 ones (b) 3 tens + 2 ones
Tick and write carry part, [

(c) 3tens + 4 ones (d) 2tens + 2 ones

3 6

+ 5
(@) 2 (b) O (1 (d)3
Which is correct addition.
(a) 3+5=8 (b) 4+1=6 (c) 4+2=5 (d) 2+4=5
A fruit seller sold 100 oranges, 200 apples and 100 bananas. How many fruits did he sell altogether?
(a) 500 (b) 400 (c) 300 (d) 600
6+4+7 = [
(@) 10 (b) 16 (c) 17 (d) 15
640+100 = [
(a) 740 (b) 540 (c) 840 (d) 650

42 =[] tens +[] ones
(a) 3tens + 2 ones (b) 4 tens + 2 ones

Topic — Subtraction

(c) 6 tens + 2 ones (d) 2tens + 2 ones

500 — 200 = [

(a) 300 (b) 700 (c) 600 (d) 400
Manya has 70 cakes. She has given 40 cakes to Rahul. How many cakes were left?
(a) 700 (b) 30 (c) 900 (d) 500
1 is 200 less than 800
(a) 300 (b) 700 (c) 600 (d) 100
7 6 9 the missing digitis
-1 68
6 0 1
(@3 (b) 6 (c) 4 (d)1
40-30=0[1
(@) 10 (b) 20 (c) 45 (d) 15
541
-221
(a) 320 (b) 441 (c) 281 (d) 210
On subtracting 150 - 125 we get
(@) 15 (b) 25 (c) 10 (d) 20
380 - 360 is
(@) 20 (b) 80 (c) 90 (d) 50
999 - 111
(a) 763 (b) 888 (c) 241 (d) 666
What number is 100 less than 900
(a) 200 (b) 800 (c) 700 (d) 600
Which number can you subtract to get this difference ? [(300]
(a) 500 — 100 (b) 600 — 300 (c) 200 — 100 (d) 200 — 200
| am a number just after 2 50 — 0
(@0 (b) 20 (c) 10 (d) 51
Tick the correct one
(a) 40 — 30 =[2d (b) 60 — 60 = [20] (c) 50 — 50 = [10] (d) 80 — 40 = [40
What number is 300 less than 4007?
(a) 100 (b) 700 (c) 200 (d) 50
Amana has 260 pens. She gave 160 pens to her friends. How many pens are left with her?
(a) 200 (b) 100 (c) 300 (d) 500
Which rectangle matches the number in the circle? @
(a)20-8] (b)[98 — 60l (c)[45 - 25] (d)[63 = 20|
Compare 200 — 100 450 — 400
(a) < (b) > (€)=
| am a number just before 545 - 1
(a) 540 (b) 544 (c) 427 (d) 543
The difference between 620 — 20 is
(a) 600 (b) 521 (c) 639 (d) 619

A farmer had 360 oranges. He sold 200 oranges. How many oranges are left?
(a) 150 (b) 160 (c) 450 (d) 120
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